Parallel and Perpendicular Lin

Find the equation of the line that has:
(a) Gradient 2 and goes through (0, 5)
(b) Gradient -3 and goes through (0, 7)
(c) Gradient g and goes through (0, 4)
(d) Gradient -4 and goes through (0, -1)
(e) Gradient 1 and goes through (0, -6)

Find the eq'uation of the line that is:

(a) Parallel to the line y = 4x + 7 and
passes through (0, 2)

(b) Parallel to the line y = —2x + 4 and
passes through (0, 6)

(c) Parallel to the line y =3x + 1 and
passes through (0, -4)

(d) Parallel to the line y =x + 6 and
passes through (0, 5)

(e) Parallel to the line y = %x +3 and
passes through (0, -1)

Find the equation of the line that is:

(a) Perpendicular to the line y =2x +5
and passes through (0, 7)

(b) Perpendicular to the line y = %x +4
and passes through (0, -5)

(c) Perpendicular to the line y = -5x + 1
and passes through (0, 2)

(d) Perpendicular to the line y = —3x +5
and passes through (0, -4)

(e) Perpendicular to the line y =3x -1
and passes through (0, 3)

Match the pairs of perpendicular lines.

x=6 x+y=5 y=8x-9
2y=x+4 2x+y=9 y=—§x+6
Sy=2x+15 y=01lx+2 y=-2
y = 33a — 10x 2y +5x =2 y=x+4

a) y=22c+5
((b)> g: -3:1:."’—'
(c) = Zoc+ 4
(o) %: ?43@-1
() §=>-6

(o) Y= 3+ 1
(o) e -3 -5
() U=é:£-+2
(D v = 4oc -4
@y ~3+3

x-6 ond 3=—2

\y—%x—‘i and =’%'-3C—“‘Q>
=33-10C. ond u= D\oc+2.

5=9C+'+ond xcry=b
2u=oc ond 24y =4

5:3: 2x+\5 ond 2\\3«— 5= 2,




